Tafelsommen tot 10
Elke kolom in één minuut!




© 2021 - Toine van Broekhoven
oefensite.rendierhof.nl - TILBURG

KINDCENTRUM

Rendnerhoc

JAN LIGTHARTSCHOOL | KINDERSTAD




tafels 1-10

8 x = 16 X 4 = 8 10 x 5 = x 1 = 9
x 8 = 3 7 x 3 = 8 x = 24 7 x = 7
TX = 14 10 x =7 2x?= x7= 7
4XT= XT= 10 8 x =3—2 Tx 1 =
x 8 =T TX 8 = XT= 2 4 X =T
9 x = 9 8 x 9 = 10 x 6 = x 7 = 35
7 x = 70 x 7 = 70 5 x = 50 X 7 = 4
10 x 2 = 6 x = 54 X 5 = 45 9 9x = 27
3 x 7 = 3 x 8 = 2 x = 4 8 x 10 =
4 x = 20 6 x = 48 10 x 6 = 7 x = 70
XT= 4 XT= 4 x 8 =T 9XT=
TX 8 = Wx9 = TX 8 = x7=?
X 2 =T x4=T X 9 =T Tx 8 =
10 x = 100 2 x 8 = 10 x = 30 3 x = 30
2 x 2 = x 10 = 50 x 2 = 16 x 6 = 18
x = 48 7 x = 7 9 9x = 6 9 9x = 6
7 x 9 = x 10 = 20 4 x 4 = 2 x 6 =
x 6 = 30 3 x 10 = x 9 = 81 x 5 = 20
TXZ = 8 x =T Tx9 = Txé =
5 x = 50 3 x 9 = 10x = 70 5 x = 10
x 7 = 35 7 x = 49 3 x = 9 x 2 = 2
6 x = 54 10 x 3 = x 4 = 12 7 x = 4
XT= 8 X 6 =T Tx = 4 x = 8
7 x 10 = 9 x = 63 9 x = 18 4 x 3 =
2 x 9 = 10 x 2 = 6 x 8 = x 2 = 18
6 x =7 8 x =T x4=T 1 x 6 =
10 XT= 7 x 1 = Tx9 = 1 x =T
4 x =T X 2 =T 2 X =T 6XT=
5xT= Tx 5 = 4x7= x4=T
x 8 = 48 2 x = 4 x 3 = 6 8 x 5 =
Tx 3 = 3 XT= 1_x = 1 10 x =T
1 x =T x 1 =T 4x_= XT= 4
8x_= 24 Tx = 21 5 x =T Tx9 =
4XT= XT= 8 XT= 50 4 X =T
x4=? 1_x4= Wx 8 = XT= 48
Tx9 = X 5 =T x 1 =T _x 1 = 8
4 x = 20 9 x 9 = 10 x = 80 10 x 3 =
2 x 8 = 4 x = 8 x 5 = 15 6 x = 30
X 7=7 4XT= 1_x 7 = 7XW=
99x = 9 10 x = 40 9 x 5 = x 6 = 36
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tafels 1-10

X 2 = 6 X = 6 X 9 = 63 6 x 7 = x 1 = 3
X =T XT= 8 Wx2= 7 X =E TX = 56
x7= Tx = 7 4 X =T 9x?= XT=4
X3=T 6x1_= x?=10 4 X =3_2 Tx1 =

X 6 = x4=? 1_x2= XT=54 5 x =E
x = 40 10 x = 30 1 x 1 = 2 x 5 = x 2 = 18
x 9 = 90 4 x = 8 x 10 = 10 1 x =6  x 7 =35
x = 56 3 x 1 = 9 x = 18 x 4 = 16 10 x = 90
x 3 = 9 x 7 = 10 x 2 = 2 x =20 9 x 3 =

X =¥ 3 x =T 5 x =E 10x1_= 1 X =T
x 4 = x 1 = 3 x 2 = 8 x 5 =25 10 x 1 =
x6=¥ Tx9= Tx4= 1_x4= x5=T
x 10 = x 2 = 18 x 7 = 14 X 4 = 4 7 x 10 =
x =50 8 x = 4 4 x 10 = 6 x = 18 4 x = 40
x =10 3 x 7 = x 3 = 3 x 7 = 56 x 4 = 32
x 7 = 14 2 x = 18 3 x =30 10 x = 10 1 ox = 3
x 10 = 4 x 3 = x 8 =72 10 x 2 = 9 x 10 =

X =T x7=? Wx6= x7=¥ x7=?
XT= 1_x4= 4 x =E Tx4= Tx7=

x 10 = 40 6 x = 4 2 x 4 = 6 x = 42 5 x = 40
x = 63 x 3 = 27 3 x =30 4 x = 8 x 10 = 10
x 2 = 4 x = 28 3 x 1 = x 8 = 2 1 x = 6
x 8 = x 7 = 28 X 9 = 45 3 x 4 = 8 x =32
X =¥ Wx2= Tx = 81 6 x =6_O 4XT=

x 8 = 72 9 x 9 = 8 x 8 = 6 x 1 = x 7 = 7
X = 36 5 x =? 9 x =F x8=? 7x7=
XT= 8xT= 9XT= 1_x6= 4 x =¥
X =E 9 x =T x8=E 3 x =? 7x7=
XT= 6XT= Tx7= 1x7= x5=z
x2=¥ x7=T 7 Xx =E x3=? Tx9=

X 4 = ?x1 = 5x?= Tx = 35 3 X =T
X =¥ 1 X =T x5=$ 9XT= XW=9O
XT=81 3x_= 15 Tx = 12 3 x =; Tx3=

x 8 = 9x7= XW=10 XT=18 1 x =T
X :¥ x5=T Tx2= Tx1 = x1_=3
x 10 = 6 x 10 = x 10 = 40 X 6 = 6 x5 =5
X =E 2 X =T 7x3= Tx = 27 Tx4=
XT= 7x1_= 2 X =T x7=7 5 x =E
x3=T x8=? 7XT= ?x2= 5xT=

x =18 1 x = 3 1 x =8 8 x 8 = X 6 = 24

(c) TvBroekhoven 2021
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